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Exercici 1
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Segona part

OPCIO A

Exercici 3
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Exercici 4

=19,15 mW

pPos 1 PBC1 =
b) R

pos 2 Fgeo =U?=76,6 mwW

OoPCIOB
Exercici 3

a) Egjec = Paom ft = 26,25 kW h

b) L L

n=3=15 it tpaquet=V=36S
(Phom — Fouit)n

¢) Epaquet =" . buit taquet = 1795 kJ

Exercici 4

a) m=2bhep=46,80kg
b) ZM(O)=0:—mgb+Fh=0 - F=mg%=459,1 N

c) ZFZO: Ry =mg=4591N ; R4 =F=459,1N

d) Silaforca F fos vertical hauria de ser més petita, en estar a més distancia del punt O.
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Primera part
Exercici 1
Q1 d Q2 b Q3 d Q4 d Q5 c

Exercici 2
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Segona part

OPCIO A
Exercici 3
n
a) n =—ptt = 21600 passatgers
P

E, .
b) R, =1—pnp =M=5,172 KW
n t, 0,58-15

c) Ei=(Ruit + R ) =75,35 kW:-h
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Exercici 4
) > M(0)=0 = -mglcosg+F2L=0 er%cosw
b)
F[N]
171,7 —

00 ©[
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Ry =Fsing =%003(psin(p —80,66N

C) ZFethO =

2
Ry =mg—FCOS(p=mg(1—Cos ®

)=228,2 N

OPCIOB
Exercici 3

Loyt =2b+2h+2nr,, =1828 mm
Lot =2b+2h+2nr, =1514 mm

b)

biotal = 2400t 0, 6685 min = 40,11
0 S =(2b+2h)(Feyt — Fing) + 1(r3s — r2) = 83,56-10° mm?
m=pSe=6,710 kg
Exercici 4

2
a) E, =UF1=0,192 J

P
by P=Er_192w W]
To
960 — -
c) E=Pt; =1728 kW -h

d)

0 L tms]



